JEZYK ANGIELSKI

. Vocabulary and communication

1. He always tells great jokes. He is .......... .
|:| A) funny |:| B) hard-working |:| C) punctual |:| D) selfish
2. He is from Portugal. He is .......... .
|:| A) Portugish |:| B) Portuguese
|:| C) Portugalian |:| D) Portug
3. He repairs cars. He is a .......... .
|:| A) plumber |:| B) vet |:| C) mechanic |:| D) butcher
4. We celebrate St Valentine’s Day in .......... .
|:| A) December |:| B) March
|:| C) February |:| D) November
5.In Poland, we go to school from (1) .......... to (2) .......... . i
|:| A) (1) Monday; (2) Friday |:| B) (1) Sunday; (2) Friday
|:| C) (1) Saturday; (2) Monday |:| D) (1) Monday; (2) Wednesday
6. This month is between November and January.
|:| A) May |:| B) December |:| C) June |:| D) July
7.The sun is shining. Itis a .......... day.
|:| A) sun |:| B) sunny |:| C) cloud |:| D) cloudy
8. Complete the dialogue.
A: What .......... today?
B: It’s cloudy.
|:| A) the weather |:| B) has the weather |:| C) is the weather like |:| D) do the weather like
9. Use the words (A, B, C) to complete the sentences (1-3).
1o, - a room where you sleep A. bedroom
2. i, - a room where you prepare meals B. bathroom
K T - a room where you have a shower C. kitchen
[ 1A)1-C; 2-B; 3-A [ ]B)1-A; 2-B; 3-C [ ]c)1-B; 2-A; 3-C [ ID)1-A; 2-C; 3-B
10. Complete the dialogue.
A: ... me?
B: Of course, what can | do?
[ ]A)Can | help [ ]B)Can you help [ ]C)Ican help [ ] D) Help you
11. 1 have a cat. It has got long .......... .
[ ] A)feathers [ ]B)whiskers |
[ ] C)wings [ ] D) beak
Il. Grammar
12. Look at Tom! He .......... the tallest tree in your garden.
[ ] A)climbs [ ]B)climb
[_] C)is climbing [ ] D) climbing

13. Use the words (A-D) and complete the sentences (1-4).

T, is this boy? My friend. A. what
2. e is your birthday? In June. B. who
3 is it? It's a ruler. C. when
4. ... are you going? To school. D. where

[ JA)1-B; 2-C;3-A;4-D [ |B)1-B;2-D;3-C;:4-A | |C)1-C;2-D;3-B;4-A [ _|D)1-D; 2-C; 3-B; 4-A



14. She usually to school by bus.

|:| A) goes
|:| C) going
15.Look at .......... . She looks great.
[ ]A)she [ ]B)he
16. Agnieszka is my friend. .......... is a great girl.

[ ]A)He
17. The football match is (1)
LA (1) on; 2)in []B)(1)on; (2) at
18. There are (1) and (2)
D A) (1) foxs; (2) wolfs
[ ] c) (1) foxen; (2) welf
19. She (1) 1 year old and she (2)
[ ]A)(1)is; 2)is [ ]B)(1)is; (2) has got
20. .......... a beautiful tree in your garden.
|:| A) There are |:| B) There is

21. A: Peter, meet my friend. .......... is Mark.
B: Hello, Mark. I’m Peter.

D A) These
22.1s that
[ ] A)Mark car

23. Complete the dialogue..
A: Who's your best friend?
B: i, .

[ ]B)I

in the forest.

|:| B) Those

(samochoéd Marka)?
[ ] B)Mark’ car

[ ] B)Marks
lll. Reading

Monday. We can meet and practise (2)

walk without help.

[ IB)go

|:| D) is going

|:| C) her

[ ]D)his

[ ID)we

the weekend.

[ 1D)(1)in; (2) at

[ ]c)she

L1c)y()at; (2) at

|:| B) (1) foxes; (2) wolves
[ ]D) (1) foxs; (2) wolves

|:| C)(1)is; (2) can |:| D) (1) has got; (2) can

|:| C) There'’re |:| D) There

[ ]c)This oyt

|:| C) car Marks |:| D) Mark’s car

[ ]C)InJune [ ] D) At school
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=

;b 3]
%

Itis arainy day, but Peter is happy. Today everyone is celebrating his birthday. He is 12 years old.
His mum, dad, aunt and grandpa are spending this day with him. Peter is looking at his birthday
presents. They are so great. New blue trainers, red shorts and yellow T-shirt from his mum. A fishing rod
from his dad. A tasty lollipop from his aunt. And best of all, a great watch with a black leather strap from

his grandpa. In the afternoon, everyone wants to go fishing. They have raincoats and umbrellas with them. Peter is wearing
his new trainers. His mum doesn’t want him to wear new shoes because it is muddy outside. But Peter says it is his birthday

and he wants to look good.

24. How old is Peter today?
|:| A) twenty |:| B) twelve
25. Which present hasn’t he got from his mum?
|:| A) a fishing rod |:| B) trainers
26. What is Peter’s favourite present?
[ ] A)afishing rod [ ]B)shorts
27. What colour is the watch?
[ ] A)blue [ ]B)red
28. How many people are with Peter on his birthday?
|:| A) two |:| B) three
29. Which sentence is true?
|:| A) He can eat one of his present.
|:| C) His grandpa is not with him on his birthday.
30. Which sentence is false?
D A) Peter is alone on his birthday.
|:| C) Peter wants to wear his new shoes.

[ ]C)ten [ ] D) thirteen
[ ]c)a T-shirt [ ] D) shorts
[ ]c)awatch [ ] D)a T-shirt
[ ]c)green [ ] D) black

[_]c)four ] D) five

|:| B) He is not happy with his presents.
|:| D) He is eleven today.

|:| B) On Peter’s birthday it is rainy.
|:| D) Peter and his family are going fishing in the afternoon.
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